Overview

The X n3 asks why the 2"7va \"1y is 21; since either the 77°pY or 7MI7 was
from a hand or on a hand, as is stated in the 7wn, there should be no 21m,
since a place of o mdY '7 %y '7 is required for an 77°pY or M. MO will
explain why the X723 assumes that a place of '7 9¥ '7 is required for an 7Py
or fnan.

npoIN gives two explanations: 1) That we derive it from the 1pwn, 2) that we
learn it from a ?100.

"7 21Pn BYR AR 79PY 39va NITY - But we require an 7°py and a

sman from a place that is four oorov by four o'nvv. !

Mmoo unasked question is: why does the X ) assume that a place of 2mdv "1 %Y '7 is
required for an 77°pY and a 7manA?

mooin replies:

D' 9RIN — an 1ean says

'TR NIND2 2T MOITY N9Uan PRT — that since it is not customary to place an
article on a place that is less than four o°nov (because it may fall, etc.),

1Pwna RRneR 57 191 — and therefore presumably that is the way that it

was in the 39w, that they placed objects only on a place that is '7 v '7, and since we
learn out all NXY7 from 12w NOXYY, therefore an 77°pY or a nin hastobeona '70pn
"7 %y just as it was in the 1own .

S'""9 IR 7Y — and furthermore says pPrxs 11929, another reason why the X3
assumes that we need a '7 9V '7 0Ipn, is that we learn it out from a pyoo.

MIPRR WOR RI° X7 — that the P02 of MIPMAR WIR KXY YR which literally means
“no man leave his place,2

YENR SRPT Sn1 yrwn - also means that we are referring (with the word
1mIPnn) to the object, not only to the person, as in the literal meaning.

YR Bw amipnn myes — as if to say that the word Ipnn, means from the
place of the object,

(3,7 8'""D) 1°217°¥2 W7 - as the N3 interprets this 195 in 1921 'on
RIX HR R3° UX7 — that the words of the "R%> X" ?105, which literally mean
“no one should leave from his place”, should be understood as if it was
written X721 ¥R, do not take out an object from its place,

NP7 LwDT 23 YY X — even though that the simple reading of the P10
2R YW R By o8p — the word wpnn refers to the place of the man,

" A nav is approximately 3 to 4 inches

* The "1mpHH WX N YN PIDS may be understood in its literal meaning that “no man shall leave his
place” meaning, as Mmoo will say, that he should not leave his nyn 7 (if he traveled a naw oINN, he may
only stay in the MmN 7 at the end of the ©nM). See (1an) MNOY 17T X, 2 MM for a different reading of
the po9.



YA RN "7 '0N KR, 7T NAw 'on .7"'02

MR "7 177 — which is four naR,? ie. The simple meaning of the P10 is that no
man should leave his place of mnX "7 (if he traveled a naw N, he is limited to his '3
nnK)

YOI 2Ipn ol pawn apn Yon — nevertheless it also means the place of the
object, i.e. No man shall remove or carry out an object from its place to another mw-.

T nIMD 2m 2R XY — and it is not a proper place if it is less than 5y '7
1w '7. Le. the 770 forbids us to remove an object from its place, referring to the resting
place of the object as a O)Pn, meaning a place that is fitting to be called a significant
place, and less than '7 9¥ "7 is not considered a significant place.

Summary
The two sources from where we know that a o°mov "7 Hv '7 0Wpn is required

for a mam Py are:

1) presumably no one places on object on a space less that "7 (because it is
not safe), therefore we can reasonably assume that in the 1own this was the
case as well, and since all n2w naox5» including 7013M IR¥)T are learnt from
the 1own, they have to be done in the same manner as they were done in the
1PWwn, namely "7 %Y "7 D7 223 Dy AnIm TPy,

2) There is a P05 which says Mpnan WX XY 98, which according to the X723
may be understood to mean that one should not carry out something from its
place, since the P09 refers to the resting place of the object with the word
mIpnn (from its place), the m0d is telling us that it requires a formal and
significant resting place, and less than '7 is not a formal and significant
resting place.

Thinking it over

1. How does *"w" explain this issue, from where do we know that a '7 opn is
required?

2. What may be the relative stronger and weaker points in the vws, of ,>"w"
My ,n"?

3. We learnt before in (bw5 71"7 X ,2) NdOIN, that there was 71010 XX in the
1Dwn, when the 0% loaded and unloaded the o>w1p from the ground to the
M2y (and vice versa). Now both the ground and the 123v is a '7 0pn, so why
does '01n say that we presume that a '7 21pn was used in the jown for 7Py
amm, when we know for sure that it was so?

4. The 2 sources of '01n for a '7 21pn are 1) the 1pwn, 2) the X¥° HX P09, Can
we correlate these two points with the vws 7"7 X ,2'0107?

? An nnN is 6 DINAY, or approximately 18 to 24 inches, MnX T would be about 6 to 8 feet



